
 1
50

0 

 5
0 

 1
50

0 

 4
00

 

 1
50

0 

 8
00

 

BM

CCS

OM

POZA ToB 2018-02-05 2

MASW54219
 1 ( 7)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Stair 1.5m
HAGS



4

2 3

1

5

7

8

6

NR. Description MA Item Number Qty

1 Stairs 1,5m 8010215 1

2 Banister left 1,5 m 8009711 1

3 Banister right 1,5 m 8009712 1

4 Screw, ISO8677-M8x50-8.8 8039282 6

5 Cap 8 Ø27x11,5 mm 8005956 6

6 Washer, Bolt cap 9x18x2-ISO4759-3-C 8008849 6

7 Nut, ISO7042-M8-8 8042809 6

8 Cover 8, Ø18x10mm 8005958 6 POZA ToB 2018-02-05 2

MASW54219
 2 ( 7)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Stair 1.5m
HAGS



3

2

1

 

4

6

7

5

CC

S

NR. Description MA Item Number Qty

1 Expansion Anchoring 580 mm 8009733 2

2 196x26x37 8005927 2

3 Screw, ISO4762-M8x25-8.8 8008472 4

4 Screw, ISO4017-M10x25-8.8 8008371 4

5 Washer, Bolt cap 11x24x2-ISO4759-3-C 8008850 4

6 Sheet, ground anchor 8009625 1

7 Nut, cage M10-t=1.8-3.2 8008815 4 POZA ToB 2018-02-05 2

MASW54219
 3 ( 7)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Stair 1.5m
HAGS



1

2

3

4

5

OM

NR. Description MA Item Number Qty

1 Screw, ISO4762-M8x25-8.8 8008472 4

2 196x26x37 8005927 2

3 Expansion Anchoring 200 mm 8009902 2

4 Expansion anchor M8x71 HDG 8008557 4

5 Washer, Bolt cap 11x24x2-ISO4759-3-C 8008850 4 POZA ToB 2018-02-05 2

MASW54219
 4 ( 7)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Stair 1.5m
HAGS



BM

7

3

2

1

4

5

6

NR. Description MA Item Number Qty
1 960 mm 8009953 2
2 196x26x37 2
3 Screw, ISO4762-M8x25-8.8 8008472 4
4 Screw, ISO4017-M10x25-8.8 8008371 4
5 Washer, Bolt cap 11x24x2-ISO4759-3-C 8008850 4
6 Nut, cage M10-t=1.8-3.2 8008815 4
7 620x121x21 mm 8013165 2 POZA ToB 2018-02-05 2

MASW54219
 5 ( 7)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Stair 1.5m
HAGS



 689  = 

 4
5  = 

3 4

2

1

HPL-DECK

WOODEN DECK

Ø9

NR. Description MA Item Number Qty

1 Screw, ISO8677-M8x45-8.8 8051445 2

2 Screw, ISO7380-1-M8x16-10.9 8008449 2

3 Washer, Bolt cap 9x18x2-ISO4759-3-C 8008849 2

4 Nut, DIN986-M8-8 8008753 2 POZA ToB 2018-02-05 2

MASW54219
 6 ( 7)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Stair 1.5m
HAGS



.

G

STEEL POST

WOODEN POST

1
2

Ø5,5
250

3

 

MAX 500 rpm

NR. Description MA Item Number Qty

1 Screw, wood, TKFT-6x40-8.8 8008651 8

2 Ø6 16/7 x 3 mm 8035290 8

3 Screw, thr-forming M6x25-8.8-(ISO7380) 8039282 8

20 Cover 8, Ø18x10mm 8005958 6 POZA ToB 2018-02-05 2

MASW54219
 7 ( 7)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Stair 1.5m
HAGS


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6

	Sheet2
	Drawing View8

	Sheet3
	Drawing View9
	Detail View A (1 : 5)
	Detail View B (1 : 5)

	Sheet4
	Drawing View13
	Detail View C (1 : 5)

	Sheet5
	Drawing View30
	Detail View H (1 : 5)
	Detail View I (1 : 5)

	Sheet6
	Drawing View15
	Drawing View16
	Detail View D (1 : 2)
	Drawing View28
	Drawing View29

	Sheet7
	Drawing View20
	Drawing View21
	Drawing View23
	Drawing View24
	Detail View E (1 : 2)
	Detail View F (1 : 3)
	Detail View G (1 : 3)


